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Novel Solution of Using UDP to Traverse NAT

ZHANG Guo-yin, YE Zai-wei, QU Li-jun
(College of Computer Science and Technology, Harbin Engineering University, Harbin 150001)

Abstract Network Address Translation(NAT) is a method by which IP addresses are mapped from one realm to another, in an attempt to provide
transparent routing to hosts. It is an efficient solution for the lack of IP address. However, it has negative impact on P2P. The negative impact on P2P
caused by the NAT is pointed out. And a method of testing NAT port mapping is presented. A new NAT traversal protocol under P2P network
environment is designed. The protocol describes how to establish direct UDP communication between two NAT computers. The performance of the
network connectivity is improved.
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